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o Mn‘lgum In the margin indicata full marks
Mwm are required to give their answers in the:r
' own words as: far as practicable '

: - GRQUP A
( Multlple Choice Type Questlons )

r1 Choou Bncomct altamaﬂm for any ten of the foﬂowinq
L , e . 10x1=10

!j ln load ﬂowsmdyzqn matrixisa’

a) null matrix : e
'b) sparse matrlx
<€) full matrix
_ d) unlty matrtx '
.. W)y AB0 Hz, four polo turbo ammator rated at 20 IIVA 132kv ,
. has an inertia constant H=4 kW sec/KvA. Tho K.E stored in
tho rotor at synchmnous speed is:
. a) 8ok
by s‘o‘_m ‘
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. ©) 40 MJ :
d)20 M. B
) L@id'flow,studylscarrbd‘ou'tfwr
' a) Fault calculation
b) Shbmty
- ©) Sysm ptannlng
o 'd) Load froquency control

) Anmohnﬂonfacmrl‘usedln loadﬂowsmdiesby

a)Gauts-Soldollhﬂ\od .
b) NowbnRaphwalﬁthod
c)Docouplodlhﬁtod o
A d) Nomofthotbovo. ) . .
v) APowsyshmhwbjochdtoaﬁuuwhiehmcmm
: ‘um»qmeonmonontofcumntoqualtoum.m
n-tuuofhultk - :
a) Double Ilmtogwundfault
b) Double line fault
c) Unotogroundfaun BT
’ d) Thmphmﬁogromdfault.
) Anoqulpmonthawunnmcmncoom.sputoabaseof :
. 20 MVA, 33Kv, ThepumchncotoﬂaobnoofsoMVAand
a) 4.5 ,
b) 2028
; ‘c)‘os'
' .d)z
vil) Athme phase brnkar is ratod ZDOOWA, 33kV its making .

o,
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cul.-nntwmb‘ . I
blAoIA
c)TOKA
vili) Abus baris ratad by |
- , ‘) Clm'ant BM v°|hg e Ohly
~ bCumentonty .
. _c) Cumntvaluga and frequoncy ‘

a) Relatlvo stablllty

~ b) Transient stability )

- c) Dymmlcsnblllty

. o Study state mbnny b o
% Which of the foliowing circuit. bmkm is not sulhble for -
C autorocloslngpurpou? ‘
. a) Alrblast clrcult breaker b) on clrcult bmker

b) SF; clrcult broaker od) Vaccum clrcult bmkar '

. oxi) Zoro uquonea currenu an pmoht in

a) LL fault -

b) LG fault
c) L-L-G fault -
d) both (b) & (©).

' " xi) Tho volhga of partlcular bus can be controlled by controlling "
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a) Phue angle.

. by Reactive power of the bus

c) Active power of the bus .
d) Phase anglo and nactlve power

: . xili) Equal Mea crnarion is useful for tho dohrmimtlun of

a) sundy sate stabifity.

b)) Transiont stability of two machlne power systam

c) Translent stability of multi machine power system.

dy Both steady - state and tl:anslqnt Ghblllty of multi .

machlno power system
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. GROUP B : .
( Short Anmr 'lype Questions )
Answer any threa of the_foilowlnq 3x5=15

2, Three generators are ratod as follows

 Generator 1: 100 MVA, 33 kV ruchneo = ms o
. Generator2: 160 MVA, - 32 kV, reactance =8%
. Generator 3: 110 MVA, - 30 kV, reactance = 12%
Choosing 200- MVA and 35 kV as the base quantiﬁes.Acornp'uté
perunit reactances of the three generators referred to these base
. quantities. All the gemmors are conmctod to common bus-bars

3. Draw the positive, mgatlvo and aero saquence networlm fora
three-phase unloaded synchronoms geénerator wlth grounded

noutral throuqh lmpodanee Zz.

4. Two generating stations have shon-cimnit capaeiﬁe. ot 1500 ,
< MVA -and 1000 -MVA mpecﬂVer Assume base MVA to be 100
© .. -MVA and the generating stations operating at 11 kV, are linked by ,
.an Inhmonnecﬂng cable havlng a reactance of 0.6 leha». ‘

' Mrmlm the short clmult capacity pf each station.-
5. Explnln equal area criterion as appn-d to'power systom stabillty
e B Exphin d!lforont methods of ARC cxﬂncﬁon ina ctrcuit Breaker

émoz , I 45_ o [:‘-l‘urnove‘r]w
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( Long Answer Type Questions ) |
Answer‘ any three of the folloudng Sx15=45

T 7a) Explalnwhyﬂ\eyare preforredovercumntrehyslnmooff o

~ paraliel feeders and Ring Main's protection.

- b) Determine the time of operation of a relay of rating 5A and
having a relay setting of 125%, TMS = 0.6. It is connected to
a supply circuit through a QT 40015 ratio. ‘l'he fault current is

4000 A. ' s '_

PSM are: . T2~ [« [s . _a;’j” 10 |20
Qperaﬂngv ﬁm(Sec) 10 (s |4 |3 .28 24|
, _ , . L R

8. ;Aa)._' "The line to gmund Vollages ona high volhgo sid- of a sbp-

up Transformer are 100kv, 33kv and 38kv on phase A, Band - -

C respectively. The voltage on phase A'leads that of phuo B
‘by 100° & Iags that of phase C by 176.5°. Determine analytically
the symmetrical components of the valhgu on ueh phue -
b) Explain with sketch, the construcﬂon, uu, ldvanugn and
’ disadvanhg« of a SFG clrcuit bmksr md ln a powar
o osystem. - . U, : .
o CEe | (s+7)_'
9. Z?i.i Draw a schematic diagram of them\al power phnt ahowing
' ‘all the major components. A
b) Explain the main four parts of a thormal power plant. ,
' . . (7+8)_ .

,'10. a) :‘Two generators 61 . Gz raﬁed 10 MVA 1‘!kV and SMVA "
 kVrespectively are connacml to a 15 MVA, 11A/66Y kV step-.
up transformer with 10% reactance. If both the generators
‘have a sub transient reactance of 20%, calculate the sub
, 'transient current in each generator when a 3-phau fault -

1002 s


http://www.

~ www.makaut.com
csm TochIEvenIEEIGth ‘Sem/EE-602/2014

occurs on high voitage side of the transformer assumlng that :
~ there are no circulating currents in tha machines.

b) A gonorlﬂng station has five scction bus bars connected
" with a tie bar through 8% reactor rated at 3000 kVA. Each
: gcmntorls of 3000 kVA with 12% reactance and is connected
to sach section bus bars. Find the total steady input to a dedd
- short circuit between the lines on one of the section busbars o

(I)mthreactor (i wlthout reactor = B
e 62 .ss met -
b 2 a% A 5 8%

(3*7) ‘

1M Draw the layout dlagram of a Hydel power plant. GIVe detaﬂed,'
worklng principle of the Hydel power plant. [15] '
12. a) Define the following torms :
) i) Steady state stability
i) Dynamic stability
. Hi) Transient stability.
b) KP._. is the maximum power that can be suppﬂed by a
: cylh\drlcal rotor synchronous machine, state ‘whether the
. load can be suddenly raised to 0.9 P, without destabilizing -
~ the maehlm whon it ls supplying 0. 5 P . Apply equal area -
criterion. '
(6+9)
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,,'Buscod-_ : o Admittance.
w2 R g
23 L gesej2ees
The scheduhd of actlve and mtlve powers

~Buseodb

ip

Q

Voo

-1 Remarks

108

1

MJ

s ’

s . o4 03 - |1+0.0  |pQ
4 . |e3 7 |04 ~ |1+jo0 PQ

Dqtermlne the voltagu atthe end ofﬂrstmraﬁon using Gauu '
Seidal meﬂ\od Take.g= 1.6 v

(15) S
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